Which of the series in Exercises 1-36 converge, and which diverge?
Give reasons for your answers.
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2. diverges by the Direct Comparison Test sincen+n-+n > n+ \/ﬁ +0 = n+3ﬁ
term of the divergent series >, % or use Limit Comparison Test with b, = 1
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14. converges by the Limit Comparison Test (part 2) with ﬂl—‘ , the nth term of a convergent p-series:
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15. diverges by the Limit Comparison Test (part 3) with :—‘ . the nth term of the divergent barmonic series:
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16. diverges by the Limit Comparison Test (part 3) with % , the nth term of the divergent harmonic series
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8. converges: a geometric series with |r| = ‘~ % <1
; T dnsi 3 (m+ Do+ 20 1
16. converges by the Ratio Test:  lim == = Jlim ST T =3 <
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18. converges by the Ratio Test: _lim == = nleoc e = <

In Exercises 4548, estimate the magnitude of the error involved in
using the sum of the first four terms to approximate the sum of the en-
tire series.

46. Jerror| < |(— 1) (%) = 0.00001
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